EARAZROREIERT — 2 N—XBISY —F 2016568 18H () 1[@EIEKAEE1H

R 5% 3/ KEF (GBS [HET] S ‘ (Xfg] B ‘ [REmshE — | & (&) 17000 2
[A&4)] 1 7 4,800,000 23 :1,900,000 33 :1,200,000 @ 43 :720,000 5 7% :480,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N FTHE—H 145, —-9-8- . . BEHL (ERH
1lglis| VEFE1A— 3 fis 1(4_5)7 7-9-8-6 | 37.3| 88.4 | 4 fzs) .
XL ThANAN BUXYLELTT o ENcEe]
= # 3 | AR 1:45.9 7-7-4-3 | 37.7| 86.7 | 1 488 | EEZ XM (ER)
EH 3| 277 5.0 (1 172) g | BEER
RTIATLREA L BT — LY FHEHS
. o PRI : -0-1- EHEE (EXR)
3l5lg| *Tvamsyn i 3 Astlx.o 1.?563.7 2-2-1-1 |38.8|79.9 | 6 (4_644) s (
LA agR=— B:UN=H%JLFK =R E%E
5% 3 | hOEEEEA 1:46.9 7-7-9-11 | 38.3| 77.9 | 7 | 400 |AEBE (EX)
4 4| E>AT 4 XI— il 252.0 A 1/4) () |BllER
R:FA—TA N b B RTYL TR T Kie
N N . PN -46. —3—4— X . =2/ (FR)
55/ 7|71xELyva> 3 B 1(;6@9 3-3-4-6 |38.6| 78.0 | 5 fzs) EEE%L
LY KYTYRIR BAA—bTLF L E UL e ]
S s g 3 R E AR 147, —4-3- . . HEM®E (EH)
6 9 T ERKZAEY v b % 3 A 5 (11 417/41) 3-4-3-3 | 39.1] 76.6 | 8 tg? E
L:T7v3iI73—L B:XTYNARTyT TR
3 | HLauE 1:47.2 11-12-12-12| 38.2 | 75.1 1 484 | NEfREL ()
77|10/ #¥ % * 2540 (7€) 1 oy | ENEE
LIVNATA—H— BIUYLTF—L fREE HER
XNV FEHEZ 147 -10-9- . . IR = (F®)
gl1]1|F>y~Ly b H 3 = 1(14/72)3 10-10-9-10 | 38.7 | 74.6 | 3 zzgg) =
Vv TRy b B by THTHEL FRBE%S
s 43 | AVEGR 1:47.4 6-4-4-3 |39.2| 74.1 | 12 | 460 | BEFEAHL (EX)
9 gllVa—-rrEeFz 54.0 (3/4) (4) | MEAREAL
L:xrivvH/xtx BYALOIATE-N T HiE
— = RFRZ 147. —10-9- . . REH= (FERXR)
10 o| *x=vay 4 3 e i 1(747t;5 13-10-9-6 | 38.9 | 73.0 | 13 (4232) ek
NT—9774—R B:AXIF> HE77—L
s 3 | HERHA 1:47.8 3-6-4-6 |39.6| 71.1 | 2 454 | BIRE (BR)
1 5 ®F ') kX 5E4.0 (1 3/4) (-p) |EEMT
L%V 1RT 1774 T — H:Chanpagne Royale Brandywine Farm (
. QR 4 3 | BEES 1:48.0 1-1-2-2 | 40.1 | 69.9 | 9 492 | B2 (ER)
1207111 7> 7 —L Ko ¥— 56.0 (1 1/2) (-a) | DBRER
R:7-074—X B:TA7—N—ht> HBTr—L
N PN aIEF 149, -12-12- . . FEEEL (BR)
13lgl1o T aINT > 3 = 1(479)1 11-12-12-13| 40.0 | 60.8 | 10 zg;t e
AL aY LYY BiALYaYTE-L e
@ 71 L
) 50.6-37.8
NO>24 L | 6.8-11.0-11.8-12.4-13.1-12.8-12.5-12.9-12.4
@ 1—F—@&BIEf
=="F= 11,6(9,5,7)8(3,4,13)1(10,12)2
20—+ — (¥11,6)7(8,9)5(3,4)13(2,1) (10,12)
S=57= (11,%6)9(8,3,7,5)13(2,1,4)-(10,12)
41—+ — (11,%6) (8,3,9) (2,7,5,13)1,4,10-12
[ RN
B OB 13 590M 714K 3-13 270M e & 3-8 890M &R 3-6-13 5,040
8 B 13 190M 6-13 1,640M B & =18 900 3B 13-3-6 29,050/
3 150/ 3-6 980M B H 13-3 2,170M
6 430M

ABICOVWTRDTEEERROODE. TR LIV,




